
■ 次の整数を素因数分解したとき、 　　にあてはまる数を答えなさい。

① 12 ＝ 2 ×

② 27 ＝

③ 44 ＝ 2 ×

④ 56 ＝ 2 ×

⑤ 63 ＝ 3 ×

⑥ 126 ＝ 2 × 3 ×

⑦ 152 ＝ 2 ×

⑧ 168 ＝ 2 × 3 ×

⑨ 172 ＝ 2 ×

⑩ 175 ＝ 5 ×

⑪ 240 ＝ 2 × 3 ×

⑫ 288 ＝ 2 × 3

⑬ 460 ＝ 2 × 5 ×

⑭ 608 ＝ 2 ×

⑮ 675 ＝ 3 × 5

⑯ 735 ＝ 3 × 5 × 7

⑰ 812 ＝ 2 × 7 ×

⑱ 864 ＝ 2 × 3

⑲ 868 ＝ 2 × 7 ×

⑳ 928 ＝ 2 ×

素因数分解
年 組 名前

/20



■ 次の整数を素因数分解したとき、 　　にあてはまる数を答えなさい。

① 12 ＝ 2 ×
2

3

② 27 ＝
3

3

③ 44 ＝ 2 ×
2

11

④ 56 ＝ 2 ×
3

7

⑤ 63 ＝ 3 ×
2

7

⑥ 126 ＝ 2 × 3 ×
2

7

⑦ 152 ＝ 2 ×
3

19

⑧ 168 ＝ 2 × 3 ×
3

7

⑨ 172 ＝ 2 ×
2

43

⑩ 175 ＝ 5 ×
2

7

⑪ 240 ＝ 2 × 3 ×
4

5

⑫ 288 ＝ 2 × 3
5 2

⑬ 460 ＝ 2 × 5 ×
2

23

⑭ 608 ＝ 2 ×
5

19

⑮ 675 ＝ 3 × 5
3 2

⑯ 735 ＝ 3 × 5 × 7
2

⑰ 812 ＝ 2 × 7 ×
2

29

⑱ 864 ＝ 2 × 3
5 3

⑲ 868 ＝ 2 × 7 ×
2

31

⑳ 928 ＝ 2 ×
5

29

素因数分解
年 組 名前

/20


